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Note: This questlon paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries

o, lf) marks and ma ‘have az.b, ¢ as sub questrons

Ve pARTEA

(, (25 Marks)
l.a)  What is heat loss factor? 2]
What do you understand by supercharging? [3]
What are the different types of combustlon chambers used in Slengine? .. 7 F—
Deﬁne specrﬁc fuel consumptlon A A O S By ..

/Drawthe-P-v and T-s diagram for a ingle. actmg recrprocatmg air compressor 2]

What is heat balance sheet? 3]
What is the difference between rotary and reciprocating compressor? 2]
Differentiate between centrifugal compressor and axial flow compressor. 31
What do you understand by effective room sensible heat factor? [2]

31

(50 Marks)

2.a) Discuss the various important qualities of a good ignition system.
b)  Explain the differences between actual and ideal fuel air cycles of C.I. engines. [5+5]
OR
( s Derrye an, expressron for-air fuel ratio of-a-simple carburetor
:,W thia neat sketoh explam the battery i gmtion syste L

Discuss the desirable characteristics of a good combustion chamber for an SI engine.
Classify and explain the CI engine combustion chambers. [5+5]
OR
5.a) Discuss the various methods for improving the anti-knock quality of an SI engine.
-, b)  Explain. and dlSCUSS the phenomcnon of dresel knock m Cl engmes and compare the ...
' S o [5+5] -

6.a) Explam Rope brake dynamometer to determme the brake power of an engme
b) A six cylinder, four-stroke gasoline engine having a bore of 90 mm and stroke of
100 mm has a compressmn ratio 7. The relative efficiency is 55% when the indicated
spec1ﬁc fuel consumptlon is 300gm/kW h. Estlmate ) the calorlﬁc value of the fuel
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8.a)

Jeylinder Was made inoperative bysho 1 circulating the:spark plug are, 14.9,/14.3, 148~

KExplain the principle of oggeratioxy’a
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OR

Enumerate the various engine efficiencies. Explain.
A gasoline engine working on four stroke develops a brake power of 20.9 kW. A Morse

e brake"power (kW) obtainéd ‘when each

“and 1475 respectively. The test was conducted at constant speed. Find the indicator

power, mechanical efficiency and bmep when all the cylinders are firing. The bore of
the engine is 75 mm and the stroke is 90 mm. The engine is running at 3000 rpm. [5+5]

List out various rotary compressor. Write the advantages of rotary compressors over

reciprocal compressors:” .
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Explain the following terms for dynamic compressors.

a) Power input factor

b) Pressure coefficient

¢) Adiabatic coefficient. [10]

b)

I": no h COPPPTAN K " . B N 3 : L “ .
of one part of the first to two parts of the second. Calculate the temperature and specific

a) Face velocity 200 m/min and four rows.

b) Face velocity 100 m/min and four rows

¢) Face velocity 150 m/min and eight rows

d) Face velocity 150 m/min and two rows. [10]
OR

90C dry/bulb arid 80 per’cent rélative huimidity mixes with

ther siream of fiioist air at 30°C dry. bulb and 10°€ dew point ifi'the ration by mass. .

humidity of the air after mixing.
Explain about year —round air conditioning system with a neat labelled diagram. [5+5]
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